
www.tvilum.com77806  Rev. E   01-07-2025



X12-3 hr

READING GUIDE - 1A
VERSION 1
18-08-2021

 778062 / 32



Ø5x30 mm
Ø0.2x1.18"

x20120203

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x18

0.67x12.13/13.78"
17x308/350 mm

0141407 xX

17.70x1.08x1.57"
449,5x27,5x40 mm

0110503 xX

0141404

17x310/310 mm
0.67x12.20/12.20"

xX 0141417

17x310/400 mm
0.67x12.20/15.75"

xX

0110512

499,5x27,5x40 mm
19.67x1.08x1.57"

xX

0141403

17x246/251 mm
0.67x9.69/9.88"

xX

0.67x11.02/17.72"
17x280/450 mm

0141421 xX

15.73x1.08x1.57"
399,5x27,5x40 mm

0110506 xX0110510

344,5x27,5x40 mm
13.56x1.08x1.57"

xX0110514

299,5x27,5x40 mm
11.79x1.08x1.57"

xX

2.01x1.57x0.35"
51x40x9 mm

0150491 x2

Ø0.30x1.73/1.34"
Ø7,5x44/34 mm

0131513 x18

Ø1.02-3.61x1.97x0.78"
Ø26-91,8x50x19,7 mm

0152291 x2

1.97x3.54x0.47"
50x90x12 mm

0194009 x1

Ø0.87x0.02"
Ø22x0,5 mm

xX0110901

Ø0.87x0.02"
Ø22x0,5 mm

0110901 x1

Ø0.31x1.18"
Ø8x30 mm

0120209 x16

Ø6,3x27 mm
Ø0.25x1.06"

x60126033

Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x4

M6x20 mm
M6x0.79"

x40162403

25
 p

cs

1,4x25 mm
0.06x0.98"

x10123006

25,4x9,5x13 mm
1x0.37x0.51"

x40133203

Ø0.2x1.5"
Ø5x38 mm

0125604 x10

Ø0.2/Ø0.39x0.47"
Ø5/Ø10/12 mm

0111017 x4

Ø1.1x0.83"
Ø28x21 mm

0181009 x2

M4x9 mm
M4x0.35"

x20126214

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x4

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x4
Ø6,3x40 mm
Ø0.25x1.57"

x40120228

Ø6,9x8 mm
Ø0.27x0.31"

x40126071

M4x0.28"
M4x7 mm

0126211 x2

Ø10x2,5 mm
Ø0.39x0.10"

x10196205

Ø10x2,5 mm
Ø0.39x0.10"

x10196205

M4x0.98"
M4x25 mm

0126234 x2

0.67x12.20/12.20"
17x310/310 mm

0141440 x2

 778063 / 32



470x474,5x15mm

EF

435,5x400x18mm

LE

570x364x18mm

FA

570x364x18mm

HA

327x334x18mm

TB

653x346x2,5mm

08003

327,5x93x18mm

PF

327,5x70x18mm

KN

394x48x32mm

76164 x2

394x48x32mm

76165 x2

305x297x2,5mm

06915 294,5x88x12,2mm

03413
300x88x12,2mm

00703

300x88x12,2mm

00704

323,5x134x18mm

EF

WG

368x322,5x18mm

WG

327,5x360x18mm

IE

LE

08003

TB

ID

JD

FA

HA

76164

76165

76164 76291

76165 76290

PF

KN

WG
IE

435,5x400x18mm

ID

423,5x394x18mm

JD

423,5x48x32mm

76290

423,5x48x32mm

76291

 x3  x2

 778064 / 32

BOX 1/1



470x474,5x15mm

LE

08003

TB

ID

JD

FA

HA

76164

76165

76164 76291

76165 76290

PF

KN

WG
IE

06915

EF

00704

0070303413

 x3  x2

 778065 / 32



Ø0.23x0.35"
Ø5,8x9 mm

0126020 x2

Ø3,5x15 mm
Ø0.14x0.59"

x20125233 *

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø0.31x1.18"
Ø8x30 mm

0120209 x4

0126020

1

*
0125215

4

0125215

*

3

0126020

2

0141440

17x310/310 mm
0.67x12.20/12.20"

x1

FA

1

FA

 778066 / 32

1

2



Ø0.23x0.35"
Ø5,8x9 mm

0126020 x2

Ø3,5x15 mm
Ø0.14x0.59"

x20125233 *

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x40131513

Ø0.31x1.18"
Ø8x30 mm

0120209 x4

0141440

17x310/310 mm
0.67x12.20/12.20"

x1

0126020

2

0125215

*

3

*
0125215

4

0126020

1

HA

1

HA

 778067 / 32

3

4



Ø0.55/Ø0.35x0.61"
Ø14/Ø9x15,5 mm

0122005 x4

M6x20 mm
M6x0.79"

x40162403

JD

JD

 778068 / 32

5

6



Ø6,3x27 mm
Ø0.25x1.06"

x20126033

Ø0.2x1.5"
Ø5x38 mm

0125604 x10

25,4x9,5x13 mm
1x0.37x0.51"

x40133203

7

 778069 / 32

8

ID

76291

/ 

x276164 

7629176290 76165 x2

LE

76290



Ø6,3x27 mm
Ø0.25x1.06"

x40126033

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x80131513

JD

ID

ID

LE

 7780610 / 32

9

10



Ø0.31x1.18"
Ø8x30 mm

0120209 x8

IE

KN

PF

 7780611 / 32

11



Ø15x9,5 mm
Ø0.59x0.37"

x40131687 1 2 3

HA

IE

KN

PF

 7780612 / 32

12



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

FA

 7780613 / 32

13



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

ID

HA
FA

 7780614 / 32

14



Ø15x9,5 mm
Ø0.59x0.37"

x40131687

LE

 7780615 / 32

15



25
 p

cs

1,4x25 mm
0.06x0.98"

x10123006

 YY 

 XX 

08003

XX = YY

 7780616 / 32

16



 7780617 / 32

17



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 1/3

18 / 32



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 2/3

19 / 32



TVILUM 3.0 layout:

TVILUM WARNING TEXT:
Tipsikring - BESLAG - WARNING
Tipover - Fitting - WARNING

Date: 06-07-2021

Can be found right here:
J:\PU\PU vejledning dokumentation\07 - Kundevejledninger\01 - Warning text\tvilum 3.0 layout

PAGE: 3/3

20 / 32



1.97x3.54x0.47"
50x90x12 mm

0194009 x1

/3222

 7780621 / 32

18



?

3
0

m
m

1 
(1

/5
)"

?
?

8

1 2 3

4 5 6

7

10 11 12

9

22 / 32  77806



Ø0.2/Ø0.39x0.47"
Ø5/Ø10/12 mm

0111017 x4

2

1

TB

WG

x20152291

Ø26-91,8x50x19,7 mm
Ø1.02-3.61x1.97x0.78"

 7780623 / 32

19

20



51x40x9 mm
2.01x1.57x0.35"

x20150491

M4x0.28"
M4x7 mm

0126211 x2

Ø6,9x8 mm
Ø0.27x0.31"

x40126071

51x40x9 mm
2.01x1.57x0.35"

x20150491

M4x0.28"
M4x7 mm

0126211 x2

Ø6,9x8 mm
Ø0.27x0.31"

x40126071

 7780624 / 32

21A

21B



1

2

2

1

/3232

WG

WG

 7780625 / 32

22A

22B



Ø0.87x0.02"
Ø22x0,5 mm

x40110901

Ø10x2,5 mm
Ø0.39x0.10"

x10196205

Ø1.1x0.83"
Ø28x21 mm

0181009 x1

M4x0.98"
M4x25 mm

0126234 x1

 7780626 / 32

23

24



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x20131513

Ø5x30 mm
Ø0.2x1.18"

x20120203

EF

00704

00703

 7780627 / 32

25

26



Ø15x9,5 mm
Ø0.59x0.37"

x20131687

EF

00704 00703

06915

 7780628 / 32

27

28



Ø6,3x40 mm
Ø0.25x1.57"

x40120228

Ø1.1x0.83"
Ø28x21 mm

0181009 x1

M4x0.98"
M4x25 mm

0126234 x1

03413

 7780629 / 32

29

30



3

21

M4x9 mm
M4x0.35"

x20126214

EF

 7780630 / 32

31



MAX

lbs

kg

37
17

lbs

kg

24
11

lbs

kg

24
11

lbs

kg

4
2

© TVILUM A/S 2018 31 / 32 77806



32 / 32  77806


